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NoTe:— Answers may be written either in English or in
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throughout the paper.
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Attempt all questions.
All questians carry equal marks.
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L (a) “A marketer should stop making makeable

products and should start making marketable
products.”
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Explain the significance of the statement giving
the importance of consumer orientation in today’s

market scenario.
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Explain the concept of marketing mix for
introducing a new luxury car in the market.
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Or (39ay)

“Marketing is a very important tool for fighting
the excessive competition prevailing in the
marketplace.” Do you agree? Explain giving the
importance of marketing for consumers and the
society at large.
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Differentiate between the concept of marketing
and selling with examples and diagram.
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2. Attempt any three of the following :
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(a)

(b)

(d)

Explain the influence of demographic variables on
the marketers of consumer’s products.
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What arc the various stages involved in the
consumer’s buying decision process?
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Differentiate between dissonance reducing buy-
ing behaviour and complex buying behaviour.

faraTfy =T R SEER i I Y HEeR A
fadq s

What are the various levels of market segmen-
tation? Explain with examples.
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3. Explain the marketing communication process with
diagram. What are the steps taken to overcome the
problems of selective attention, retention and recall?
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Attempt any three of the following :
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(a)

(b)

(c)

(d)

Define the various communication objectives set
by marketers.
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Why is identification of target audience important

for the marketers for designing an eflfective
communication?
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How can marketers design an effective message to
be conveyed to the target audicnce effectively?
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Why is objective and task method of sctting
communication budget considercd the most scien-
tific and objective method?

g a9z @A) @ IRV o vy ugld wed
g st aEqfres = A S 22 3x5



5 4562

4. Define promotion. Why is promotion becoming an
important tool for marketers? Explain the various
promotional tools used by marketers to promote a
consumer product in the market.
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Or (31gan)

Explain the concept of promotion mix. What are the
various factors affecting the choice of an appropriate
promotional mix?
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5. Attempt any two of the following :
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(a) Why is sales promotion considered an important
tool to supplement advertising and personal
selling?
fagra ol wfeTe fama & Sqm B fau fae
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(b) Define the concept of integrated marketing
communication. Why is it becoming important?
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(c) Explain the process of IMC. What are the various
stages involved in this?
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